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Project Scheduling: PERT/CPM
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30-26 - (97 P (30 weeks) = 0.5000 + 0.756 = 0.9736
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Maximum Crash
Actvily Crash Cost'Week
A 2 300
B 3 ' 667
C 1 500
D 2 200
E | 350
F 2 450
G 3 360
H 1 1000
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Chapter 10

b.  Linear Programming Solution

Activity Crash Time New Time Crash Cost
A 0 3 . |
B I 5 667
D 2 3 600
E 1 3 350
F 1 2 450
G 1 8 360
: 1 0 3 s
il Total Crashing Cost 5242
| 2
r Earliest Latest Earliest Latest Critical
| Activity Start Start Finish Finish Slack Activity
A 0 0 3 3 0 Yes
B 0 0 3 5 0 Yes
i C 2 3 S 5 0 Yes
| D 5 5 8 8 0 Yes
’ E 8 8 1 Ll 0 Yes
&) 11 11 13 13 0 Yes
G 3 3 13 13 0 Yes
H 13 13 10 16 0 Yes
All activities are critical, ‘
21. a
Earliest Latest Earliest Latest Critical
a Activity Start Start Finish Finish Slack Activity
il A 0 0 3 3 0 Yes
B B 0 1 2 3 1
C 3 3 8 8 0 Yes
i D 2 3 7 8 1
3 E 8 8 14 14 0 Yes
! F 8 10 10 12 9
i G 10 12 12 14 2
i
: Critical Path: A-C-E

Project Completion Time =15 — 1 +1g =3 + 5+ 6= 14 days

b, Total Cost = $8.400



Project Scheduling: PERT/CPM

22, a
Crash
Activity Max Crash Days Cost‘Day
A 1 600
B 1 700
C 2 400
D 2 400
E 2 500
F 1 400
G 1 500
Min 600y, + 700yg + 400yc + 400y~ 500y + 400y — 4001
S.t.
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b.
Activity Crash Crashing Cost
C 1 day $400
E 1 day 500
Total $900

¢. Total Cost = Normal Cost + Crashing Cost
=$8.400 + $900 = $9,300
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